PART1 FIGURE ANALOGIES INSTRUCTIONS 3

Each item in this section has 3 figures on 1 line. followed b','l @ PART 1I

5 lettered figures on the line below: Chocse the letter of the :

figure that is related to the 3rd figure on the 1st line in the NUMBER SERIES

same way that the 2nd hgure 1s reiated to the st i % % :T: %
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PART IV
EXTRANEQUS FIGURES

INSTRUCTIONS. For each numberec set of igures. choose the letler of
ihe figure that does not belorg witn the other four
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it @ worm gnaws a hole througn ire eignl-cuebe sohd shown above,
startng wih cube 1 and passing through each cube exactly cnce,
witnoul £rossing any boundary where more than iwo cubes meel, which
c.be or cubes of ose markea 2 3. and 4 can it emerge rom?
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i three gallons of pairil &re reguired to paini all sides of one cube. howmany
gaiens will be required 10 pant all extenor suriaces of the fgure shown?
{ihree cubes n te 'ower nght sear corner are not visibe )
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35 Whnat s the maximum rumber of cubes 'natcan be piled on the sguares
of & we-by-ive-sguare boaro, witi e side of each square equal 1o thait o
each cube and w.th io square piled more !han infee cubes h g, such that
@ cubes are visible?
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ow ign a ower can e bull usirg seven Dlocks wh the dimensions
shown above without rotatng any block more than ninety degrees from the
orematon shown?
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Assuming that twe noles go ai the way through the cube and the thurd only
natfway trough. what 13 the toial number of faces of the body shown
above?
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ANrats the maamum total number of laces of the pieces producea Dy one
niane cui througt: the houre shown?
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Which of the folloveng could be folded to make the six-cube solid shown

above? {lgrore tne aifference i scale )
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PART Vi
SHGURE SERIES

INSTRUCTIONS: Each iter in this section consists of a sequence of igures
on one ine. iolowad by five lettered higures on the line below Chocse the
stier of the Ligure on the second line that continues the prograssion ¢ the
first ine
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PART VIl

PROBLEM SCLVING
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Which of the following 's PR?
A 8 c 0

£ pong of the above

50 How many different ways are thereto connect six points arrangedin a
reqular hexagoral array with a continucus path consisting ot fve straigh
Ines meeting oniy at these goints?

A 42 B 48 C 54 D80 E 72

51 One third of the members of a parhamentary body are elected every
two years. The body has six commitiees Each member of the bodyis a
remper of at least one commitiee. and ne member 15 @ memper of more
than two committees. No committes has more 1han e even members
tach parr of committees has exactly wo members in common The
chairmar 1s amemter of the Rules Commuttee and of no other committee
Fach member of the Budget Committee 1s also a member of ancther
sommitee. The tast digit of the number of members of the pariamentary
hody is

A2 B.3 C 4 D6
£ It cannot be determined from the mtormation given

52. To begn playing a certan card game, an ordinary deck of playing
cards 1s dealt out completely 1o four players Each player looks at his
cards and passes one card to the player on hig left. A player does notlook
a7 the card passed 1o him until ha has passed a card. If a player has more
‘han one King he mus! pass a kng: if he nas only one king. he may not
pass t How many rounds of passing are necessary 10 insure that each
player has one king?
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The missing pauern:
belongs n the third row
is asymmetncal
. contains the same elements as one of the patterns above, but in a
different order.
does not contain a straight ne.
satisfies qone of the above condlions
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54 Acerlan country manufactures coins ineight integral derominations C Spinning the cylicder after firng tre first shot oniy.

irom 1 piaster to 300 piasters The ratios between adjacent denomina- D Notspnning the cylinder either after loading the first bullet or atter the
tions are all ether 2. 2%, or 3 To purchase a 69-piaster souvenir. atounst  first shot

gives the selier one coin and receives one con in exchange E The probability 1s the same for all cases.

Whrich of the foliowing 1s true? 56 You are gven:
—a 2%-gallon container tull of water,
A There are both S-praster and 30-miaster coing an empty 1-gallon contaner;
8. There is a 5-praster coin but no 30-piaster com --a 1'%-pound weight;
C. There is a 30-praster co:n but no S-piaster coin —a 2%2-pound weight,
D There :s neither a 5-piaster nor a 30-piaster coin -a 4Yz-pound weight,
£. None of the alternatives above can be pasihvely established from the --a 6¥2-pound weight: ang
wanfgrmation giien —a 2-pan balance

55. A man plays a game of Russian roulette in the following way He puts  Each container weighs five pounds. A pint of water weighs one pound
two bullets i & six-chamber cybnder and pulls the trigger twice. The  One of the weights s sightly inaccurate—either lighter or heavier than
cylinder is spun belore the hirst shot, but it may or may not be spun after  the weight indicated above Which weight 1s inaccurate and in which
putting n the first buliet and alter taking the first shot. direction
A can be delermined in three weighings
Which of the iollowing situations produces the lowest probability of survi- B can be determined in four weighings.
val? C. can be determined as tc which weight in two weighings, but which
direction tis aft cannot necessarnly be determined.
A Spinning the cyhnger aiter loading the first bulle:. and spinming again . D can be determined as to which weight in three weighings. but which
atter the st shot direction t1s off cannot necessanly be determined.
8 Sminning the cylinder after loading the frst bullet only £ cannot be determined from the given conditions. DO
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